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Sr Questions Answers Choice

1 In the continent of South America, which country is largest producer of fertilizer:
A. Chile
B. Peru
C. Argentina
D. Brazil

2 How many fertilizer mills are working in Pakistan?
A. five mills
B. 11 mills
C. no mill
D. 20 mills

3 In 1957, Pakistan's first fertilizer mill was established at:
A. Faisalabad
B. Jaranwala
C. Multan
D. Karachi

4 In world, largest manufactured of chemical fertilizers is:
A. Pakistan
B. Canada
C. China
D. United Kingdom

5 Largest manufactured of potash fertilizer in the world is:
A. Japan
B. Canada
C. Germany
D. United Kingdom

6 Largest manufactured of phosphate fertilizers in the world is:
A. United States of America
B. India
C. United Kingdom
D. Afghanistan

7 In the world, largest manufactured of nitrogen fertilizer is:
A. Russian Federation
B. United States of America
C. China
D. India

8 In spite of huge local fertilizer industry, China:
A. imports fertilizer at large scale
B. imports fertilizer at small scale
C. do not import fertilizer
D. imports fertilizer occasionally

9 In Pakistan,potash fertilizer plant has been erected:
A. with the help of India
B. with the help of Iran
C. with the help of Jordan
D. with the help of Japan

10 In manufacturing nitrogen fertilizer, natural gas is being used:
A. as a raw material
B. not as a raw material
C. can be used as raw material
D. not being used as raw material

11 Due to continues use of fertilizers:

A. air pollution is increasing
B. air pollution does not take place
C. air pollution increase to some
extent
D. air pollution is decreasing

12 With the help of balanced use of fertilizers:

A. production cannot increase
B. production is increased at large
scale
C. production can be increased to
some extent
D. production becomes double

13 In the establishment of chemical fertilizer industry:

A. raw material has basic importance
B. raw material has no importance
C. raw material do nothing

D. raw material has some value

14 Excessive use of fertilizers is:
A. creating problems
B. polluting soil &amp; water
C. creating nothing
D. creating severe problems

A. continent of Europe
B. continent of Africa



15 In the world,which element produce maximum potash fertilizer: B. continent of Africa
C. continent of Asia
D. continent of Australia


